

RURAL WORKS DEPARTMENT



GOVERNMENT OF BIHAR

RESTORATION OF ROAD FROM BARHARA FARHI
PMGSY ROAD TO UDAYCHAND YADAV HOUSE TO
BAHARDAR TOLA

DIVISION:- R.W.D, WORKS DIVISION, FORBESGANJ

CIRCLE:- R.W.D, WORK CIRCLE, KISHANGANJ

BLOCK:- NARPATGANJ

ESTIMATED COST

217526.00

प्रतिवेदन

प्रस्तुत प्राक्कलन ग्रामीण कार्य विभाग, कार्य प्रमंडल, फारबिसगंज अंतर्गत

प्रखंड के पथ <u>धार हुए। प्राप्त के श्रिपाठिय के प्राप्त</u> जो विभागीय Online Monitoring System MIS पर अपलोड है के बाढ़ 2021 से क्षतिग्रस्त हो जाने के कारण यातायात लायक Motorable हेतु बनाया गया है। इस कार्य को कराने का निर्देश ग्रामीण कार्य विभाग, बिहार सरकार के पत्रांक-मु0अ0-4(मु0) विविध कार्य-23-60/2020-1937/पटना, दिनांक-07.07.2021 से प्राप्त है। इस पत्र के Real time geo-tagged Photograph को कार्य के दौरान अपलोड करते हुए (Motorable) कार्य कराना सुनिश्चित करने का निर्देश प्राप्त है।

प्राक्कलन की यथा शीध्र अनुमोदन अपेक्षित है ताकि अग्रेतर कार्रवाई की जा सके।

कनीय अभियंता ग्रामीण कार्य विभाग कार्य प्रशाखा— सहायक अभियंता ग्रामीण कार्य विभाग कार्य अवर प्रमंडल– कार्यपालक अभियंता ग्रामीण कार्य विभाग कार्य प्रमंडल,फारबिसगंज

Inspection Report for Flood Damage Work

1.Name of PIUs

: EE RWD FOOLDSgowj

2. Name Of Block / Road

AJOTA ESAHAB OF SOUGH VACAY CUA HOBACU:

A. For Road

1. Damage Location / Chainage

2.Damage Length

3 Nature Of Damage

4 Details Of Restoration

i) Material Being Used In Restoration

ii) Equipment / Tools Being Used In Restoration Works

iii) Procedure Taken Up In Restoration Works

iv) Restored Length

B. For Bridge

1. Damage Location / Chainage

2.Damage Length

3 Nature Of Damage

4. Details Of Restoration

i) Material Being Used In Restoration

ii) Equipment / Tools Being Used in Restoration Works

iii) Procedure Taken Up In Restoration Works

iv) Restored Length

Signature of JE / AE

: 185 m

: :

side cutting main out

Sout Barmboo, B/Rod

: Sand Barm 600 B/Buts

Bot , robust:

Abstract of Cost

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads Damaged during flood in JULY 2020 in ARARIA District

Name of Road:

RESTORATION OF ROAD FROM BARHARA FARHI PMGSY ROAD TO UDAYCHAND YADAV HOUSE TO BAHARDAR TOLA

Block: FORBESGANJ

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, Kishanganj

l No.	Description	Unit	Quantity (m3)	Rate (Rs)	Amount
1	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.	35.76 mg 199	(mo)	(RS)	(Rs)
		Cum	0.00	627.77	0.00
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				
3		Mtr.	1041.00	75.86	78968.80
3	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.				
_		Mtr.	532.00	40.06	21212.22
4	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.		302.00	40.00	21312.23
,					
5	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats, all complete job.	Each	2515.31	37.35	93938.61

	Combined and Combined	Cum	0.00	1851.91	0.00
6	Supply,laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.				
		meter	0.00	5251.25	0.00
	TOTAL AMOUNT =				194220.00
	ADD 12.00 %GST=	and the second second			23306.00
	SAY TOTAL AMOUNT =				217526.00

JE

RWD WORKS DIV. NARPATGANJ AE TOSIN

RWD WORKS DIV.NARPATGANJ

C 19/9/19

RWD WORKS DIV. FORB

Ref. E.E. Letter No. 15613130 Dt. 28.04.22

Technically Sanctioned For Rs 214,526

(Rupees Two lass Screnter Housand

Firehundred twenty Six)Only

AE, u'reles

By 28 y noding Eng

Perinte Works Dependent

Abstract of Cost

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads Damaged during flood in JULY 2019 in ARARIA District

Name of Road:

RESTORATION OF ROAD FROM BARHARA FARHI PMGSY ROAD TO UDAYCHAND YADAV HOUSE TO BAHARDAR TOLA

Block:NARPATGANJ

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, Kishanganj

SINA	Description	Unit	Quantity	Rate	Amount
1	Filling of local sand obtained from river bed,	DAY TY	(m3)	(Rs)	(Rs)
	watering & ramming, all complete job as per specification & direction of Engineer-in-charge.		,		
	SPECIALISM & MITECHOIL OF ENgineer-in-charge.				
		Cum	0.00	627.77	0.00
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				0.00
		Mtr.	1041.00	75.86	78968.80
3	Labour for fitting & fixing 62mm to 75mm dia			. 73.00	76306.80
	bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including				
	cost of G.I wire or nails etc all complete job as per				
	specification & direction of Engineer-in-Charge.			10	
_	Sunday Engl	Mtr.	532.00	40.06	21312.23
4	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.		. 20		
		Each	2515.31	27.25	
5	Supply and Carriage of brick bats upto 8 km breach		2313.31	37.35	93938.61
	and placing in breaches and lying of bats, all complete job.				
		Cum	0.00	1851.91	0.00
6	Supply, laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.			1031.71	0.00
		meter	0.00	5251.25	0.00
		Total Ar	mount (in Rs)		194219.64

RWD WORKS DIV.NARPATGANI

RWD WORKS DIV. FORBESC

Detailed Estimate

Name of Road:

RESTORATION OF ROAD FROM BARHARA FARHI PMGSY ROAD TO UDAYCHAND YADAV HOUSE TO BAHARDAR TOLA

SI No	Items of Works	Nos.	(m)	B (m)	D. (m) IN (Av.)	Quantity (m3
1	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.					
		1	0.00	(5.5+4.5)/2	(1.5+2.0+1.4)/2	0.00
		1	0.00	(4.5+5.0)/2		
		1	0.00		(0.8+2.0+1.4)/2	0.00
			0.00	(5.5+4.5)/2	(1.5+2.0+1.4)/2	0.00
				-	TOTAL= Total Qty =	0.00
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.					0.00
		1	108.00	3.00	2.00	648.00
		1	54.00	3.00	2.00	324.00
		1	23.00	2.00	1.50	69.00
3	Labour for fitting & fixing 62mm to 75mm dia				Total Qty =	1041.00
	bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.					
- 1		1	108.00	3.00		324.00
- 1		1	54.00	3.00		162.00
- 1		1	23.00	2.00	and the same of the same of	46.00
	-	-				532.00
	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.				Total Qty =	532.00
		2	54.00	(0.6+0.5)/2	(0.6+0.8)/3	41.58
		1	54.00	(0.6+0.8)/2	(0.6+0.8)/3	20.79
- 1		1	23.00	(0.6+0.5)/2	(0.6+0.8)/3	8.86
	Contraction and the second				TOTAL=	71.23
			Total No		53.45X35.315)	2515.31
Į t	Supply and Carriage of brick bats upto 8 km oreach and placing in breaches and lying of bats, all complete job.			SAY	NO OF BAGE=	2515
۱	an complete job.	1	0.00	4.00	0.20	0.00
		1	0.00	4.00	0.15	0.00
	·	1	0.00	4.00	0.15	0.00
					Total Qty. =	0.00
4 S	upply loving and Company 6 51					-
1 1	upply,laying and Carriage of of hume pipe 000 mm dia (HPC), all complete job.	1	0.00	2.50		0.00
	and the time, an complete loo.	4	0.00	2.50		0.00
- 1	' h	2				
		21	0.00	2.50		0.00

AE

CISISIA

NARPATGANI

RWD WORKS DIV.NARPATGANJ

RWD WORKS DIV. FORBESGANJ

Baraha Farhi PM454 Road to Vday chand Yadav House to Bahardar tole.





P910912



P209

tude: 26.284083 gitude: 87.107911 ration: 112.1±9 m

uracy: 3.0 m e: 09-03-2021 12:26 e: batata farshi pmgsy r Azimuth: 6° (N)
Pitch: -10.5° (0.6°)
Time: 10-07-2021 12:38



Barhara Farhi to p.p. masy Road to Uday chand Honor to Bahardar tols





Barbara Farki PMGSY Read to Uday chand House to Bahardar tog





Ryo?